Whao was the founder of Maurya dynasty?

(A] Chanakya
{(B) Ashoka

E’:) Chandragupta Maurya

(D) Vikramaditya

Who defeated Prithviraj Chauhan ai the
Second Battle of Tarain?

[A) Mahmud of Ghazni

il':j[/ Mohammed Ghori

|(C) Chenghiz Khan

(D) Taimur Lang

' The famous Moti Masjid in Agra was built

by which of the following kings?
(A] Humayun

(B) Jahangir

{C] Shah Jahan

\l'-l:.!’j.- Aurangzeb

The East India Company was founded by
ﬂ}f the Merchants of London

(B) British Government

(€] British Army

EI// None of the above

5. In which year Quit India Movement was
started?

{A) 1931
(B) 1938

(C) 1940

-\19' 1942

6. What is the smallest planet in our solar
system?

(A) . Mercury
o

(B) Pluto

(C) WVenus

(D) Neptune

7. What is McMahon Line?

(A) Line dividing South China Seca and
Pacific Ocean

(B) Line dividing Australia and New
Zealand

\:'S‘Jfﬂaundmy line between India and
China

(D) Boundary line between USA and
Canada

8. Which of the following rivers is longest?

\[’Nr Nile

(B] Mississippi
(C) Amazon

(D) Missouri

| PO,



9., What is the capital of Austria?

10.

11,

12,

/12

(A)  Algiers
(B) Brussels
9. Vienna
(D) Venice JpLn

« o
What is the largest creature in lhc'i'hﬁ?
(A) Dinosaur

’1;_.;- |
(B] Blue whale .
o

() Mountain lion

(D) Grizzly bear

Which of the following countries is known
as the Land of the Rising Sun?

(A) Finland
(B) Sweden

(& Japan

(B} Greenland

Which water body connects
Mediterranean Sea with the Red Sea?

[A] Strait of Gibraltar
(B) Palk Strait

E’}/’ﬂuu: Cannl

(D] Kiel Cannl

13. Who discovered the South Pole?

14. Which of the following is not a

16. Wj,phmw Park is lib.lu.tﬁ@ih

(A)_Amundsen
(B) David Livingstone
{C) Vasco da Gama

(D) Marco Polo

India?

(A) Kochi

(B) Okha

'-""", Bhavnagar

_ﬁgf’/‘ﬂyanm

hajuraho is situsted in

m Bihar
(B) Jharkhand

(D) Chhattisgarh

N m*

By Arunachal Pradesh
(C) Nagaland -

(D) Manipur
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26. The Indus Valley Civilization flourished
mostly between

(A] 1700 BC and 900 BC
\@. 2500 BC and 1700 BC
{C) 3200 BC and 2500 BC

(D) 900 BC and 10 AD 1]

27. Emperor Ashoka was the most famous
king of

‘gy’ Maurya dynasty
(B) Gupta dyvnasty
(C) Saka dynasty
(D) Cltaiukljm dynasty

2B. The Second Battle of Panipat was rnught
during the reign of

(A) Babur
(B) Humayun

' Jgj/nkbar

(D) Jahangir

29. The main objective of Khilafat Movement
WIS

(A) 1o drive the British away from India

(B] to start Non-Cooperation against the
Hritish

(€] to protest againat Jalianwalla Bagh
Massncre

‘59)/ o restore the Caliph of Ottoman
Caliphate to his former position

/12

30. Who led the Rajputs in the
Haldighati?

(A) Rana Sanga
(B) Hemu
.E.]/Ranumm]: .

;[D} Rajn Man Singh

31. Which planet of our solar system is

-
=

(D) Tibetan Kiang Valley o

33. Which of the following is the yorld

decpest lake?

(A} Kaspian Sea

(B) Michigan Lake
(€} Tanganyika Lake

D) Baikal Lake (Russia)
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43. When did the United Nations officially

came into existence?
(A} October 7th, 1944
.‘g{ October 24th, 1945
(€) June 26th, 1945

(D) June 26th, 1944

44, Which Indian king was also known as

Napoleon of India?
(A) Harshavardhana

(B] Kanishka

45. Who wrote the book, Devdas?

@/ Sarat Chandra Chattopadhyay

(B) Bankim Chandra Chattopadhyay

(C) Rabindranath Tagore

(D) Tarashankar Bandopadhvay

46. GCandhiji took out the famous Dandi

March in protest against

(A)  the Rowlatt Act

@/ the Salt Law

(D) the Cabinet Mission

/12

(€} the Simon Commission to India

47. The Swaythling Cup is associated wifh
(A) football

(B) lawn tennis

'\IEV tnble tennis

(B) golf

48. Who was the first Indian to sw
the English Channel?

VI(/MLH Arati Saha
\,/ Mihir Sen
(C) Arti Pradhan

(D) Nawang Gombu

49. Martyrs' Day in India is observed or
\u,ry 30th January
_[B: 10th December

(C) 26th January

(D) 15th August

50. What is the Iranian Parliament |
(A} Shoma
(B) Duma
G} Diet

(D) Majlis



57. Endocrine glands
(A) do not have cells
\‘I_'B)/ do not have ducis

(C) do not have blood vessels

(D) do not have proenzymes

58. Vitamin B, deficiency leads to
\uy, Beriberi
(B) Scurvy
(C) Pellagra

(D) Ricket

§9. The chemical symbol of ‘copper’ is
(A} Co

(B) Cp

‘!ﬂ)( Cu
(o) Cr -

/12
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60. Which of the following is mot true
diethyl ether?

[A) It is a volatile liquid
J?«V it is inflammable
(C) It is an anaesthetic agent «

(D) It reacts with bases

61. Pituitary gland is a part of
{A) digestive system
(B) nervous system

(€) exeretory system

\[a/cndﬂcrina] system .

62. Red blood cells are produced in the

(A)  kidneys

!}
&
EE]/’bunu Marrow

(D) heart



51.

52.

53.

/12

E::l]'idﬂﬂ:l_'{' ﬂr

(A} magnetic waves generated by them *
(B) infrared waves generated by them

(C) flashes of light generated by them

D) ultrasonic sound waves generated by
o

- them

Why is the flash of lightning scen before
the sound of thuander is heard?

(A} Because sound gets reflected
(B) Because light is produced earlicr

(C)/ Because light travels faster than
sound

() MNone of the above

Which of the following is responsible for
clotting of blood?

(A}  Lymphocyte
(B~ Platelet
(C] Ervthrocyte

(D) Eosinophil

S4. -40°C is equivalent to

55. Hepatitis is a disease of the

E‘EI

tA) 32°F
B} -32°F
(C) =1B°F

Dy -40°F

\an’ liver
(B) lungs

(C] ears

(D) eyes

Liver secretes
{A) hydrochloric acid
(B) lipase

(C) amino acids

\@/ bile

[ P.T.O.



70. Nerve cells are called

b

\{}l/ " neuron

(B) mnephron
I€) schwann cell

(D) mast cell

71. The synonym of ‘recalcitrant’ is
[A] acid
[B) acrid

‘\[‘9/ obstinate

(D] wvesse]

72. The antonym of ‘intentional’ is

w/ accidental

(B) local
(C) travelling

D} national

/12

75. Complete the following sentence with

12

73. Complete the following English p
with the correct option :

“Beggars can't be .

|A) rich
(B) happier

[€) teachers

\9/ choosers

74. What is the voung one of ‘cagle” call

(A] Cygnet
J{B}' Eaglet

(C) Eagling

(D) Eagleling

correct pronoun given below -

‘Il have a friend . can help.®

(A) that

@"whu

€} whom i

(D) which

| Cont



63. Scurvy is caused by
(A) calcium dl:ﬁ'.:ii:ne}r
(B} vitamin D deficiency
(C)- vitnmin C deficiency

b

(D) low bloed sugar level

64. Influenza is a disease caused by
(A) proloZoa
(B) bacteria

\IE}/ virus -

(D) fungus

65. Newton is a unit of
(A] power
(B) brightness of light

(C) atmospheric pressurc

‘19-)’ force

66. The chemical symbol of ‘iron’ is

(A) Me
(B) Ir
gy Fe
D) St

12

11

67.

6B.

69.

What is the chemical name of Taughing
gas’?

{A) Trichloromethane
(B} / Nitrous oxide

%

{C) Diethyl ether

(D) Carbon monoxide

What iz o transformer?

(A} It is an electrical apparatus 1o
convert electricity to magnetic encrgy

(Bl It is an electrical apparatus to
convert high voltage to low and vice
versa

(C) It is an electrical apparatus 1o
convert electricity to heat encrgy

(D) It is an electrical apparatus 1o
convert electricity to X-ray radiation

Saliva converts
(A) proteins into peptoncs
(B) far into lipase

\!9/ gtarch into maltose sugar

() protein into amino acids °

[PT.O.
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86. Complete the following sentence using the
correct preposition :

*The spider crawled slowly _____ the
banister.”

(A) belfore
(B) throughout

EE)/ along

(D] except

87. What is the plural of ‘trout?
(A) Troutes
\E)’ Trout
({C) Troth
(D) Trouters

88. What is the superlative of ‘noisy?
[A) Noisest
iB] HNoseist

IC] Nosiest
‘[E;/Huiuiﬂt

89. Complete the [ollowing idlom with the
correct option ;

*A leopard cannot change its -

«[A) colour

JE/'F““

(C) nature

(D)  habit

/12
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90.

91,

93,

What is the adverb of serrible?

(A) Te rribley

(B) Terriblest

\1_19}/ Terribly

(D) Terriblous

What must be added to

x? +2x3 =2x% £ x=1

so that the resulting polynomial is exac!
divisible by x* +2x-37?

@y x-2
B) 2x-1
- |C) xi +2x -1

M 2x2 +x-1

The length of a rectangle is 15 cm o
than its width. If the perimeter is 150,

find the dimensions (length and bread
of the rectangle. l

(A) S0'em and 35 em
(Bl 55 em and 40 ocm

[€) 35 em and 20 cm
_13]/45 em and 30 em

In a triangle ABC 2=

; 34B = ‘B
Find the three anples, AARSS

(Al 30~ 404, 110*

18720, 40, 120-

(€ 407, as*, yp5¢

(D) GO, an". gp+ .

| Con



6. Complete the following sentence with the
correct pronoun given below @

“You will have to pull together.”
(A] themselves
(B) himsell

(CY yoursell

(D}  you

What is the superlative form of ‘shy?

(A) Shyest

(B8] Shiyest

JCY " Most shy :
(D) Shyiest

8. Complete the following idiom with the
correcl oplion :

“At the drop of a o
[A] stone

\[‘[;.y/hm

(C) leai

(D] building

?gf

Use the correct determiner to complete
the sentence :

“Mount Everestis ____ highest mountain
in the world.”

(<)
(D)

most
None of the above

Use the cormect word to complete the
senlence =

B0.

“Nobody has to the prison.”

(A) except
(B) accept
(C) excess

Dy nccess

12

13

81. The synonym of ‘pender’ is

(A} fower
Eﬂ)r ruminate
(C) beautiful
(D) childish

82. The antonym of ‘insolvent’ is
(A)
(B)

'l(;a/ wealthy

(D) bankrupt .

solution

clear

§3. Complete the following English proverb
with the correct option :
“A rolling stone gathers no Ao
(A) wealth
| moss
(C) words
(D) wood
84. What is the opposite gender of ‘stag”?
(A} Ewe
(B] Vixen
(C)] Nanny
Hind

_{VI}'

Complete the following sentence with the
correct determiner

“Plense give Us
‘_‘I’M‘_ some

(B} any

(€
D) &

help.”

no

|PT.O
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4. A man purchases two fans for ¥ 2,160, By
selling one fan at a profit of 15% and the
other at a loss of 9% he neither gains nor
loses in the whole transaction. The cost
price of the fans respectively are

(A) ¥1,010 and ¥ 1,150
(B) #900 and ¥ 1,260
(C)- ¥810 and ¥ 1,350

(D) ¥860 and ¥ 1,300

5. Find the length of a chord which is at a
distance of 5 em from the centre of a circle
of radius 13 cm.

(A) 12 cm
(B) 65 cm

JE,],/EII:::I'I

() 45 cm

96. ‘The circumference of a cirele is 44 cm.

What is its arca?

(A) 168 em?

(B) 176 cm”

5 154 em?

D) 160 cm?

12

97. A rhombus having sides of 13 cm length
has a diagonal of 24 cm. What is its arca?

(AL~ 120 em*
B) 130 cm?
IC) 140 cm?

(D) 150 cm*

98, What is the simple interest on ¥ 1,200 at
6% per annum for 146 days?

(A) ®30:00
(B) ®72:80
(€) ®3640
(D) /% 28:80

99, Simplify the following :
2x —[3y = (2x - [y~ )]

(A) 3x-Ty
(B) 5x-Ty
(C) 3x-4y
(D) 5x—4y

100. Find the value of n in the equation

l-z.:-"'l = 2 3 l-'i

A 3
B 5
\m 6
[m 9

| PT.O



